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General Instructions :
Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

Identify the incorrect statement with reference to Cash Reserve Ratio
(CRR) : 1

(A) It is a certain percentage of demand and time deposit liabilities
that every bank must keep as cash reserves with the Central
Bank.

(B) It is fixed by the Central Bank.
(C) It is not binding on the commercial banks.

(D) It is a tool used by the Central Bank to control the credit creation
in the economy.

Identify which of the following will appear on the debit side in the
Capital Account of India’s Balance of Payments. 1

(A)  An Indian sending remittances from England

(B) Investing in assets abroad by Indians

(C)  An American company purchasing shares of an Indian company
(D)  Export of spices from India

12-58/2/2 P.T.O.
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3. fmafcifaa el 1 eamydes Tee hIfT
Fo7 1 : Toreht Teg b iR & 9 Terifeek T A E |
FHYT2 : WRA H FHNGH gATEH, HRA o AT &7 F1 6 3 |
feu U oAl & It 1, f=ffaa @ 8 @& oo w1 5w Fifse
(A) YT 19T 3 N AT 2 3T B |
(B) YT 13T AN FIT2HT 8 |
(C) A 1R 2¢HI AT 8 |
(D) A 1 AR 2 gH 3FHT § |

4. g for fafafea & 9 wH-ar for faffme o yored =1 we @ 787 2
(A) faf o feerar giafeaa s
(B)  Toceft ggT % 31eq AT ATU-HeTeh hi AT
(€) Tacsh gg1 99K o Agamslt /W Ush T
(D) EHfSE-ARTET Hfal 1 0= gadreHes gl ST 8

5.  Trfciigd sedl 1 eamgEes ster Hif
FYT 1 : IUFT B IUFT I §Ed b ST GoY HT GUH AT 8 |
FYT2 ; UM B b &l U BId & — T 3UHTT I YRG ITHT |
feu T el & I H, Ffaiad # ¥ wE) faeey w1 ==e hifve
(A) AT 19T B N HoH 2 3HH B |
(B) T 13T M FAT 2T B |
(C) YT 1323 T 7 |
(D) YA 13 2 gHT 3 7 |

6. UM SfSY for T hicdler sredegaten U, WM UMM = T 500 HUS qAT

AT 3T g =087 | Al SAfFeRN h U S=d e @A |
(fh Tom A & fow Tt foespew 1 =R hifsm)

(A) 500+ 0-8Y (B) (=) 500 + 0-8Y

(C) 500+ 0-2Y (D) (-) 500 + 0-2Y

12-58/2/2
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3. Read the following statements carefully : 1

Statement 1: Economic territory and political frontier of a nation are
one and the same thing.

Statement 2 : American Embassy in India is a part of the economic
territory of India.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and statement 2 is false.
(B) Statement 1 is false and statement 2 is true.
(C) Both statements 1 and 2 are true.
(D) Both statements 1 and 2 are false.

4. Identify which of the following is not one of the merits of fixed exchange
rate system. 1

(A)  Ensures stability in exchange rate

(B)  Possibility of under or over valuation of foreign currency
(C)  Prevents speculations in foreign exchange market

(D)  Coordination of macroeconomic policies becomes convenient

5. Read the following statements carefully : 1

Statement 1 : A consumption function describes the relationship
between consumption and savings.

Statement 2 : Consumption function consists of two components —
autonomous consumption and induced consumption.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

6. Suppose in an imaginary economy, autonomous consumption = ¥ 500 crore

and marginal propensity to consume = 0:8. The saving function for the
economy would be

(Choose the correct alternative to fill in the blank) 1
(A) 500+ 0-8Y (B) (=) 500 + 0-8Y
(C) 500+ 02Y (D) (=) 500 + 0-2Y

12-58/2/2 P.T.O.
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7. Tafafea o3 o1 emgEs sterem Fife qen i Tom i gfd & fore @@
fe

&heq T =TI T
%chrq :
(A) frawm (B) 13T 1 SATYR
(C) <=l =W (D) T8 Tgrdl

8. fy=Afcfad wemi =t ufgu : stfimmem (A) 3R $ror (R) | Fi= few wu fawmedt o
T Tgt fashew gfw .

3UFYT (A) : AW H FgeH T q9 Hgid gl g, 99 YA =9 9
TRITRIG 391G Teh-GER o e BId 3 |

HRU(R) : AT Wl T W, A6 o o1 TSR TR o T A7 TTHH
B TRl B |
IEETR I
(A) IIYHI (A) 3 SR (R) T T & 3T R0 (R), AR (A)
gl U1 hdl 2 |

(B) AMMHAT (A) IR w1 (R) THI T 8, dAfehd HIUT (R), AHAT (A)
1 T RS T AT B |

(C) 3R (A) T B, Wihd RO (R) I8 3 |

(D) AMHHAT (A) T 8, AT I (R) TH B |

12-58/2/2
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7. Study the following figure carefully and choose the correct alternative to
fill in the blank : 1
Alternatives :
(A) Investments (B) Trade of Services
(C)  External Borrowings (D) External Assistance

8. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below : 1

Assertion (A) : The equilibrium level of income is determined, when
ex-ante spending and ex-ante output are equal.

Reason (R): The equilibrium level of income may or may not be the
same as the full employment level of output.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

12-58/2/2 P.T.O.



9. Trafafga seAt =1 rea i : sifiysaa (A) i *ror (R) | = fow m
fomredt o @ @&t faehew T -
STYHYT (A) ; W@ s=d TG (MPS) 1 fehad oI T3 3l 9l & |
FRU(R) : A o FHER W, g9d I 8l & |
fereped

(A) IR (A) 3 RO (R) H1 I & 3 R0 (R), 3TIHIT (A)
gl U1 hidl 2 |

(B) 3T (A) 3T RO (R) I TcT &, Wihd RO (R), JMTHRAT (A)
<1 Tl AT TgT WA B |

(C) 3P (A) T B, Wihd HRUT (R) T 7 |
(D) 3T (A) THT B, Wfehd I (R) T 7 |

10. T=fciRgd semi 1 eaHgEs e HIfT
Ho7 1 : Tgl 98 9%] 7, o8 Frarumaan fafw o deag o €9 1 @i
Bl
HYT2 : TG A ATIHRAIA o GIgt HAN hl THET Fl & 13T T |

feu U el % A H, efaiad # 9 w@l fased w1 = HifST
(A) e 19T 8 I HH 2 30 8 |

(B) HYT 13T L AN FI2TT 2 |

(C) YT 1AR 2gHI T 3 |

(D) A 1R 2 gHT 3T § |

11. (%) “Yrad dqed @ § e 9T W@ & ot FurisHeait oFed Tt S
% l”
I TeHRT0T o 1Y fu MU oM i g il |
AT

(@) “Hg1 1 geag™ forelt Tsg o Fafa st Ticatied L Tl & |7

A= dehl o 919 feU U Heq <1 g9 I1 Wed hifau |
12-58/2/2
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Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below :

Assertion (A) : The maximum value of Marginal Propensity to Save
(MPS) can be unity.

Reason (R): At the break-even level of income, savings are zero.
Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

Read the following statements carefully :

Statement 1: Money is a commodity which is generally accepted as a
medium of exchange.

Statement 2 : Money solved the problem of double coincidence of wants.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and statement 2 is false.
(B) Statement 1 is false and statement 2 is true.
(C) Both statements 1 and 2 are true.
(D)  Both statements 1 and 2 are false.

(a)  “Accommodating transactions are undertaken to maintain stability
in the Balance of Payments Account.”

Justify the given statement with valid explanation.
OR
(b)  “Depreciation of currency may promote exports of a nation.”

Defend or refute the given statement with valid arguments.



12. = feu TU el o YR W, MY ANG W Fhel U™ 391G (GNPpo) 6

m
O~

Hed I T hiIT :
S 7 (¥ g@ 7)
(i) ASGH 9 o 2,000
(ii) EXRICRSIE 800
(ii) o 500
(iv) foraia &y 300
v) AT 200
(vi) TeIgE 150
(vii) | Tocer @ yca yg @ed 3™ (=) 50

13. W fi5d o AR & dfohT TiFed o Ja9 i Hgwqul Sl &l & |

et fiord s gt fobe e 3wde et <t ==t i |

14. Tk ey Jfegaeen & fou, I8 o S fos @R T 20,000 U i
grd) gfarTa few saft | sreferawen # Afafch 1™ 1 80% 3N Bl 2 |
FFTTEAT § AW § Fhg TAT IFh FTET IUAN =T H Fhg HI ke

i |

15. (%) “afg gof TR T R, Afam awqgett # awdtas wi sifaw s &

ek 3cATe | A &I, A1 399 el (Inventory) 1 U

B Hha g |7

T 379 2T 0 %99 9 9gHd 3 ? 3794 I & gHT § A1 Il ST |

12-58/2/2
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12. On the basis of the data given below, estimate the value of Gross
National Product at Factor Cost (GNPg() :

S.No. Items Amount
(< in crore)
i) Wages and Salaries 2,000
(ii) Rent and Interest 800
(iii) Corporate Tax 500
(iv) Undistributed Profit 300
(v) Dividend 200
(vi) Depreciation 150
(vii) Net factor income from abroad (=) 50

13. Reserve Bank of India undertakes the important function of managing

the government’s banking transactions.

Discuss the above stated function performed by the Reserve Bank of

India.

14. For a hypothetical economy, assume the government increased an

infrastructural investment by ¥ 20,000 crore. 80% of additional income is

consumed in the economy. Estimate the increase in income and the

corresponding increase in consumption expenditure in the economy.

15. (a)

12-58/2/2

“If actual demand for final goods falls short of the actual output of

final goods corresponding to full employment level, it may lead to

an unintended accumulation of inventories.”

Do you agree with the given statement ? Give valid reasons in

support of your answer.

OR

Page 11
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(@) fm=faRea arferst @t qU T | 3T % T 200 S H TR T 3990

16. (%)
(@)
12-58/2/2
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®a 1 o FHife |
37 (Y) T (S) 371G 39917 Fgfi | GHIT a9d g
(FHIsd) | (T HI5H) (APC) (MPS)
0 (-) 50 - -
100 | .. 1
200 | 34 |
300 | .l 218 |
(i)  FICEm & L T AT i oh e AT T hIT |
(i) TR 91 & THTEAT o Y376 32 hl ST HIT |
T
(i) WM i o T wreaie sreferaren % fou feffaa fwe
T&d fohe T §
77 i ( ;Z?@ )
(i) c@sntp 1,200
(ii) TSTE 3,700
(iii) TRt et 2,000
(iv) RUT <hl S| 145
(v) ISTd = 500
(vi) fafam 120
(vii) SIS 1 T 1,070
TSEd ©1E 9 TSehIN =1 s AT Hif |
(i) GTES® YU qYT AT IcaTeT H Il TIse iU |




(b)
16. (a)
(b)
12-58/2/2
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Complete the following table. Construct the consumption function

at T 200 crore level of income.

Income (Y) | Savings (S) | Average Propensity Marginal
(in <crore) | (in < crore) | to Consume (APC) | Propensity to Save
(MPS)
0 (=) 50 — —
100 | e, 1
200 | e 34 |
300 | .l 213 |
1) Distinguish between direct tax and indirect tax with the
help of examples. 3
(ii)) Explain the ‘reallocation of resources’ objective of
Government Budget. 3
OR
i) Suppose the following data is presented for an imaginary
economy : 4
S.No. Items Amount
(in < Crore)
(1) Tax Receipts 1,200
(i1) Revenue Expenditure 3,700
(iii) Non-Tax Receipts 2,000
(iv) Recovery of Loans 145
(v) Capital Expenditure 500
(vi) Disinvestment 120
(vii) Interest Payments 1,070
Calculate Revenue Deficit and Fiscal Deficit.
(i1)  Differentiate between public provision and public
production. 2
Page 13 P.T.O.
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17. Tr=fafad ma &1 emgEs Tee HifT

3cTed gfsham O Id4Ted o giedl g fow o fviy y: fequmest =i
IIAY T H YHTIOd L Thd & | 38 THR & YHE s IR Fcad A9 3id @
UGg TSI 3T 1 3Tehal hid IHF 38 &M H 81 @1 Al & | FAemEh 3=
TS hgd & T I STEAIE YehN[cHeh 31T ThNIcH al Tehdl & |

39 ga9 H, $g el qiifeyfas dqeq gHfvad & & e Hed
HeI-fTEur Sl Teh HEw@qUl 3TN < &9 H ITANT i 1 I <d & |

e Hod-HaRT AT q I W I[eoh TR A1 HH Icdeid I Aol
TR WTE13E T IcdSH ol AT ot <Al hIl¥sT LdT 8 | e L, M9 89,
Fh! o, 3TMfe Y TIEHT & ATem § TS 39 TR hl ThRIcHeh STeraisti
%I T A ATl FHA Tehieh hl 3TN ST B 1 I <d & |
feu U T 9 AT HE % SMUR W, fefafiad TwAl % ST AN
(i)  STeraredt i gierfyg i |

(i)  HHNIcH d FhNIcHS SIS o HET T T HIfNT |

(i) To=R @ waRe fF HEF qoa-Hgio w S8 3 R Sz fmm S
=T |

G LCEC)
TR 3Tfeier forerma

18. Tl Tk UH gUIedt §, S dTifefae dqad i gaeiiua &,
AT @ 9 gfg 0 § T8 Bl 8 |
(Th T WA & fotu Tt fashew =1 =3m shifo)

(A) URU (B) Sifa
(C) THEMEMH® (D) & (Multi-layered)
12-68/2/2
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Read the following text carefully :

Decisions taken by factors of production in the production process
often may affect the stakeholders indirectly. Such impacts at times are
huge but are not accounted for, while estimating national income.
Economists call them as externalities and they can be positive or

negative.

In this regard, many economists suggest carbon pricing as an

important tool to ensure ecological balance.

Carbon pricing tries to control greenhouse gas emissions by either
placing a fee on emitting or offering subsidies on lesser emission.
Through instruments like carbon tax, green cess, eco tax, etc. economists
suggest moving towards greener technology eliminating such negative

externalities.

On the basis of the given text and common understanding, answer the

following questions :
(1) Define externalities.
(ii))  Differentiate between positive and negative externalities.

(iii) Elaborate how and why carbon pricing should be promoted.

SECTION B

Indian Economic Development

farming is a system that is helpful in restoring,

maintaining and enhancing the ecological balance.

(Choose the correct alternative to fill in the blank)
(A)  Conventional (B) Organic

(C)  Chemical (D) Multi-layered
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20.

21.

m
O~

=H § JaHE g SAEfes T i 919 1978 H AN fhu MU ITieih guwi |
@ISt ST Hehell &, STaT |

(Feh T 9 o foTe W@ foshed o1 = 1)
@  wrw ¥ Y, faeeh s g few &6t § gur ge fhr e g
() QR gea-fretor i fifq srors w8 off
(i) TR A Ty snfoe & 1 HAifa i © & fem o

ICETR"

(A)  Had (4) (B)  had (ii)

(C) ()3 (i) (D) (), (i) 3 (iii)

forfesr s & A, vRa & foesf =R | ] DISHL s (aRITdd
of |

(feh T 9 o T w@t fasheq &1 =@ if)

(A) T 3T, YR T Teh i Tfaadredss i
(B) WRd & i 9 mamd w ffesr whiferer

(C) 9G¥ AV foed & fIT g6 =AUR

(D) gl fHafq ey

Y FhRIRU Teh HEwqUl STTfeeh FHalsH 32w 7, S T Hi5d 3 |
(Teh T 9 & Totw Tl foehew o1 =9 ife)

(1) 7 SR i A
(i) T HURd o FHH T
(iii) ST IS0 H FehNIcHe TR T

1%|7=|—>_qu :
(A)  Had (i) B) (1) AR GD)
(C) ()3 (i) (D) @), (i) 3R (ii)

12-58/2/2 Page 16
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The present day rapid industrial growth in China can be traced back to
the economic reforms introduced in 1978, where

(Choose the correct alternative to fill in the blank)

(1) initially reforms were initiated in agriculture, foreign trade and
investment sectors

(i1))  the policy of dual pricing was adopted

(iii) the Government revoked the policy of Special Economic Zones

Alternatives :
(A)  Only (1) (B)  Only (ii)
(C) () and (i) (D) (1), (i1) and (iii)

During the British rule, India’s foreign trade had various features except

(Choose the correct alternative to fill in the blank)
(A)  Restrictive policies of commodity production, trade and tariff
(B)  British monopoly over India’s exports and imports
(C)  Free trade from India to the rest of the world

(D)  Large export surplus

Modernization is an important economic planning objective that focuses

on

(Choose the correct alternative to fill in the blank)
(1) Adoption of innovative technology
(ii)  Equal distribution of income and wealth

(iii)  Bringing positive changes in the social outlook

Alternatives :
(A)  Only (1) (B) (@) and (i1)
(C) (1) and (i11) (D) (1), (1) and (ii1)
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22. % SRV FH AT de SEEd ghg | w FAGG wE § qgw

B3 o |
(feh Tom 9 & forw ot fope o1 =39 difsw) 1

(A) 3Tk gar
B) Twa frg i
(C) W8 A8 ATEHidh Il
(D) TomIv amrfefep &=

23. WEE Yot {07 o Gidl Sl ggaH i 9 ek TIH 9 o fo7w 8t foshed
EREETIE I 1
foreped

(A) T WY 9 e .
(B) dohdieh W T 9 JH W Y

(C) Jd™Ed YT =T d I I Y

(D) T Y Y J UqTEA T I

24, AT YU I AN A o U, ThEd - SR § foep™ |
& T Yd foha B |

(fep T A & foe @&l faehey &1 99= difse) 1
(i) N & I R Te=H
i) foee @ fodmo W ercafees faafar
(iii)  TSHIfaeR TFEeRaT

ICET R
(A) (1) 3 (i) (B) (i) 3T (iii)
(C) (1), (ii) 3T (iii) (D) () 3N (iid)

12-58/2/2 Page 18
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China was able to control its rapid population growth rate owing
to

(Choose the correct alternative to fill in the blank)
(A) Economic reforms
(B)  One-Child Policy
(C)  Great Proletarian Cultural Revolution
(D)  Special Economic Zones

Identify the sources of Human Capital Formation and choose the correct
alternative to fill in the blanks.

Alternatives :

(A)  Expenditure on Health and Expenditure on Schools

(B)  Expenditure on Technology and Expenditure on Knowledge
(C)  Expenditure on Migration and Expenditure on Knowledge
(D)  Expenditure on Health and Expenditure on Migration

After the implementation of economic reforms, Pakistan experienced
slowdown of growth due to various reasons including

(Choose the correct alternative to fill in the blank)
(1) Volatile performance of the agriculture sector

(ii)  Over-dependence on remittances from abroad
(iii)  Political instability

Alternatives :
(A) (i) and (ii) (B) (ii) and (ii1)
(C) (), (11) and (1i1) (D) (@) and (iii)
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frefeifad el 1 eHYEs e HIfT

FYT 1 ; R, IhEd™ o = bl Wifdes @rame quaaredi § d il THMATT
7, Weg ITeh! Terfaeh ey faegpa i & |

FYT2 : YA 9 UIhEdE I 3 Th &1 WSh &8 foerfa o W Afus s«
e am |

feu U seFT % A H, faiad § 9 w@l ooy w1 = HifST

(A) Y 1T 2 N FHIT 2 370 2 |

(B) HIT 1ATIT LM P 2T 2B |

(C) A 13M 2N A2 |

(D) YA 13 2T 3T 7 |

frfafigd seai 1 dfen : HAfishe (A) R SR (R) | A= Q¢ foaepedi |

g Hal fasheq g

SYFHIT (A) : T oh (el H, WRA ITefedee] USTTREH Falg i T &
AT H @ 2 |

FRU(R) :  USTTEH ddlg § acd =, T UHl foufd Saf we sreferaeen
arfafes U Seum fop fomn siferss agedi ofit Samedt 1

3IcqTed i § 99 7 |
ooy
(A)  AMHAT (A) 3 FHROT (R) T TcF & 3 HR0 (R), TR (A) I
&t ST KT B |

(B) 3T (A) 3T RO (R) SHI T &, Wihd hRul (R), JNTHRAT (A)
<) T AT TFT HAT B |

(C) IR (A) T B, Wlhd RO (R) I8 3 |

(D) 3T (A) T B, Wfehd IO (R) T 7 |

i [ # feu U Hfieni o YR @ hiew 11 | T TC %1 I Tl 6l F&l
e T

HITH [ HicTH 11
1. | 5 S gHM HI AT () | FrfE Jaae
2. | fmfor aeg (i) | TmeRfees fegrel awgh
3. | fafae sihwrar (engineer) (i) | @-FERa
ICETR I
(A 1-(0); 2(ii); 3Gii) (B)  1-(ii); 2—(1); 3iii)
(C)  1-(ii); 2—(i); 3—() (D) 1-(ii); 2-(); 3—(ii)
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Read the following statements carefully :

Statement 1: India, Pakistan and China have similar physical
endowments, but totally different political systems.

Statement 2 : Both India and Pakistan laid great emphasis on creating
a large private sector.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below :

Assertion (A) : In the recent past, Indian economy has been facing the
problem of jobless growth.

Reason (R):  Jobless growth refers to a situation where an economy is
able to produce more goods and services without
generating additional employment.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

From the type of workers given in Column I, identify the correct nature of
work in Column II :

Column I Column I1
1. Cement shop owner (i) Regular salaried
2. Construction worker | (ii) | Casual wage workers
3. Civil engineer (iii) | Self-employed
Alternatives :
(A)  1-(1); 2—(1); 3—(1ii) (B)  1-(i); 2—(1); 3—(ii)
(C)  1-(iid); 2—(ii); 3—@1) (D)  1-(iii); 2—(1); 3—(ii)
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28. (%) ‘T U, YR TR 4 TH-G4 A1 sl 3&ATd i oft |7
feu U U & 3T W, 39 FISHT o Il hl YT H == hifo |

HAAAT

(@) “9Rd SR 4, HN fouue Jomelt w1 T & W Sed! Scdred
nfafafert o g1y Siftgd s & U s seg 33m E 1”
7 39 feu T4 ko ¥ HgHd 8 2 379 I & gHIH H IS @ 99 HR0

AT |

29. feu mu fu i =amean it qen 38 uriifeufaes aTuer s 9 e & foru fomeft
Teh WHITT <Al s hifg |

e : (HHIIREd J9 shelcl gIEaTiera qterTiefa o 1o7¢ J97 €& 29 % € W e |
I T o 389 k! UTH i o fou fopgl @ wiHifaat <1 oo hifve |
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28. (a) “Recently, the Government of India launched Jan-Dhan Yojana.”

In the light of the given statement, discuss briefly the objectives of

this scheme. 3

OR

(b)  “The Government of India has taken various measures to align the
agricultural marketing system with the growing production
activities in the rural areas.”

Do you agree with the given statement ? Give any two valid

reasons in support of your answer. 3

29. Interpret the given picture and explain any one strategy to control it from

becoming an ecological disaster. 3

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 29.

State any two strategies to achieve the objective of sustainable

development. 3
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30. i fou wu sAiwsl & AR W, W"a%ﬁ'«rﬁmaﬁwﬁw
aftadat < ==t Hifs

2018 — 2019 H TTHTR 3R AhHeT Hod T8 (%) & &7 I

o T oo qrdla 4 TG PHIITT HT Taa/oT
YR | @7 | wifearT | YRa | @ | wifeear
SN 16 7 24 43 26 41
IE 30 41 19 25 28 24
qard 54 52 57 32 46 35
FA 100 | 100 100 100 | 100 100

Hid: 179 [a%1E REI2 2019 : TRET 37K I1aiee & 59& d@as, 2019

31. (&)

(@)

33. (&)

12-58/2/2

forfesr see o SR WRA Y & &l T0gH =W dTel Tohegl al I
1 ==t HIfr |

AASAT

1991 % (Y% U < GH TR gRI IRY FRU 7T T e §
R ¥ Tefea fohegl g IR TR W T=t HIfrT |

32. WA S B & 2 A Fedl 3 i ==t B |

(1)

(i1)

(iii)

(1)

(i1)

“srfirar e sl w0 # Fafig e & 9§ SR B, I8 961
sttt freeh 3 17
FAT I8 SNITIR/ATI=TEh &5 | hRd & ? 394 I o g9 |
3¢ SR AT |
UG H SUSHII o 37Tehgl & foheal &l Gldl ol Ieoi@ shiTT |
TRd | Afgar foem &1 Mcangd w3 6l ATa9IehdT hl faear o
ST hifT |

AAAT
“oreQt &=t St g O, U e | eides TidafateRi § @ i
ey <t e gt & |7
fau T wem i gfse Hifvw |
T=3e SUSHTRT bl IRTNG <hifsre | foreft 291 & Icuted 9 Tee ®
3Heh YAl 1 3ol hIfT |
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30. On the basis of the data given below, discuss the shift in output

and

employment sector-wise, in India and China : 4
Sectoral share of Employment and GVA (%) in 2018 - 2019
Sector Contribution to GVA Distribution of Workforce
India | China | Pakistan | India | China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100
Source : Human Development Report 2019 : Key Indicators of Asia and
Pacific, 2019
31. (a) Discuss any two factors that lead to stagnating Indian agriculture
sector during British rule. 4
OR
(b)  Discuss any two liberalization measures pertaining to the tax
reforms, introduced by the government, during the economic
reform process of 1991. 4
32. Discuss any two benefits accruing from human capital formation. 4
33. (a) (@) “Amita is a regular worker in a private firm that employs
twelve hired workers.”
Is she working in the formal/informal sector ? Give valid
reasons in support of your answer. 2
(ii)  State any two sources of data on unemployment in India. 1
(iii) Elaborate the need to promote women’s education in India. 3
OR
(b) (1) “The participation rate of people in economic activities in
rural areas is more than that in urban areas.”
Justify the given statement. 3
(ii)  Define disguised unemployment. State its implications on
output and employment in a country. 3
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E%l}
frafTfaa T w1 eaHgeesh e iU
TAAAAT 3T WA hi SfEfeh Hifd 1 geda: 1948 @ fifies ifd dehed &
gey H AR T R o | sEH Ui fEa O SEn % fasra & Wiearsd &,
GERIAl S 9 TIHaHd i & Ao § SR i Ul el @ sa fean mn
o7 | 39U TaAHh & < foTe weh Afsha @ TH@ YfHept 1 afiehed & 71 off |

AT rEnfer Hifd Tehed, 30 WA, 1956 i IUH Tl T TES o HHET Tl
T AT | 39 Hehed 3 gId fean o TR, “Undla 3evw & w9 H srdfedewn &
UISETE] Gid bl A o TY-HTY FioHTeg o digl [ hl ATawaehdr 2 |
3% TOIT g 3Tawa g Toh FAATE 9 AHiEh Agwd o aYl TN AT Frdsi-h
ST TATE AT &3 o 31efi9 gH =17 |

F I N AfI-AI9TH & a7 T 52 T9H | o i tavgesar gidl 8
(STt et TSI & JH T Thal 3), 3= Ml st &7 o 7= g1 =1fe |
AT TS <! T o Wd! T o foT Teuer STieifica ugur e & |7

g Fehed TN I 14 AT | afiehd o &
o T A H @ TS ugeht ovft # U@ suw wifte 2, foe wiass # fae
s <1 foo e gnft |

o TE{ AUt H, YT B H 9 &M fGU MU B S IR TS o Eied ATl
B | BTAlfeh, 348 9ot Suq & ft vrfiert i sedie it St |

o i Avft § 3w myft I W wnfha TR B, SR 3 ot o s
& <l gt 9 3| W el B |

feu U T qen AT wHE % IMuR R, efdRad e % W T

() “9Ra WHR I, AIF fgw@ & gRive awt § Sfwife foww A
TSt & o T St yfiept W & fezm o |7

Y 3T o THAA W BN od Y, TH HIF hl gfed HT |

(i)  SfrEnfies ifd Hehed, 1956 & ATAR iy AUl o ITT o affentor
S T Tqd T 3R == HIfT |
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Read the following text carefully :

India’s industrial policy since independence has been shaped broadly in
terms of the Industrial Policy Resolution of 1948. It emphasized on the
sole responsibility of the government in the matter of promoting,
assisting and regulating the development of industries in the national
interest. It envisaged an active and dominant role of public sector.

The next Industrial Policy Resolution was placed before the Parliament
by the Prime Minister on 30th April, 1956. It suggested that, “There is a
need for adoption of the socialist pattern of economy as the national
objective, along with the need for planned and rapid development. It
required that all industries of basic and strategic importance, or in public
utility services, should be in the public sector.

Other industries which are essential and require investment on a
massive scale (which only the State could provide) have also to be in the
public sector. Thus, the State has to assume direct responsibility for the
future development of industries.”

This Resolution classifies industries into three categories :

. The first category given in Schedule A, consists of industries the
future development of which will be the exclusive responsibility of
the State.

o In the second category given in Schedule B, are industries which

will be progressively State-owned. However, in them, private
enterprise will also be expected to participate.

o The third category comprises all the remaining industries, the
further development of which will be left to the initiative and
enterprise of the private sector.

On the basis of the given text and common understanding, answer the
following questions :

(1) “The Government of India, in the initial years of economic
development, emphasized on a greater role of the public sector in
the industrial development.”

Justify the statement, giving reasons in support of your answer.

(11)  Owutline and discuss the classification of industries into various
categories as per Industrial Policy Resolution, 1956.
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